Numbers and Operations

1) Complete this
multiplication table

W | N[>~ [ NN|O X

2) State the value of the
underlined digit.

a) 4673

b) 2430675

3) Arrange these
numbers in ascending
order.
a)25,7,283,95,0

b) 427 , 1835, 76, 92

4) Evaluate
a) 4x1000 + 7 x 100
+5

b) 6x10 + 8x 1000
+7 + 2x100

c) 3x1000 + 8
+ 2x10 + 5x100

5) Plot these points on the
number line.
a) 1,4

b) 2,0,5

6)a) 23+10=
b) 14+8 =

c) 16+11=
d 59+101=
e) 32+42 =
) 17+ 9 =

level 1(a)

7)a) 25+5=
b) 80+10=
c) 63+9 =
d 36+4 =

8)a) 19-11 =
by 24-5 =
c) 36-30 =
d 50-21 =

9a) (5+2)x3 =
b) (7-3)x5 =
c) 20-3x5 =
d 4+5x5 =
e) 6x9+1 =
) 6x(9+1) =
g (7+3)x(2+1)

h) 10+ (2x5) =
) 10+-2x5 =
) 4+3x2 =

10) Convert 69 to
Roman numerals.



